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Solve Two-Step Equations

Goal - Solve two-step equations.

= ‘
IDENTIFYING OPERATIONS Fog i:z STEP é@uﬂ'ﬂou!ﬂ \

Identify the operations involved in the eguation
3k b 7]= 10. | Fesr ALwavs gimouird oo SIDES

@ SEfL - yNDdo Adp / SOARTRACT U

@ SIEPL ~ Unbo MILT L D> dision)

@ You MUST HLWAYS CHecx BY Susdstitimive
IN THE CR(CIMAL EQUAT oy .

SEL O CERR  Solve a two-step equation
Solve 3x + 7 = 19.
Solution o

r 3x + 7/ =19 Write original equation.
__'_7 Subtract / from each

I 7 side.
| % B E- Slimplify
% ;

Divide each side by 3

Simplify.
Lirel E 41
CHECK
3x+ 7 =19 Write original equation.
3(1‘) + 7 219 Substitutei for x.
12 +7219 ° Multiply 3 by 4 .
19 = 19\// Simplify. Solution checks.




Your Notes .
@ Checkpoint Solve the two-step equation. Check your

solution.
‘Lﬁ*%:—S 2.7k—1é:42 S—
T e +ik iy
. __E\_.)_: “I Y K :?10 Skgw o\\ 9*?‘5
7 .
- (®=3) |
. 28 2 - "‘S R =
L _T'r'f - c 7(8\ .-\4:4—'2__' QMI”‘M\JH
7-12 =3 Yaz 4 | e FOF
-5 = =5 C\(\e-('\('b
=
(olve a two-step eq‘ua@y combining like terms
Solve 4a + 3a = 63.
Sclution ALwd ANS @i PV E
42 + 32 = 63 &——— Write origina! eguation. PoTH S DES Fuz st

Combine like terms. Ya+3a< 1a

1

Divide each side by

Simplify.

4a + 3a = 63 Write original equation.

Ay Q) +3(9) 263 € —Checle M eria EQ
3L 4 17 163 & ST Use (ALC Re AtTamiTic
63 =63‘/é—— Show Z@uasien Clhieck s
L b3

@ checkpoint Solve the equation. Check your solution.

[3.52+4z:36 4. 5h—2b=9
%:3@ gﬂgﬁci
9 =

0 5 () pa()=3¢ - 5(3)-2(3)=9
3u=36/ IS-( =9
7= 9/




Your Notes

Solve Multi-Step Equations

Goal - Solve multi-step equations.

rma. Solve an equation by combining like terms
Solve 3t + 5t — 5 = 11.
Solution ‘B’ SimPu FY
Write original equation.
=1\
5%

T -
=

Combine like terms.

Add S to each side.
Simplify.

Divide each side by

Simplify.

The solution is) .

=\

~ — M
Che.c.‘(i 3(2) +S(2) &“:“b.

mom an equation using the distributive property
Solve 5a + 3(a + 2) = 22.

Ho¥ 86 &l = 22

Show All Steps <6<'.L % = 2 2
L -b

o‘,=|(a
ki

. 2y glfavandzas) =wa

jo+3(y) = 22
z L

Jo £\ =
28

h

Z.Z

SE? T
ALwIANS
SOM AL P
PoTH S10SS




@ Checkpeint Solve the equation. Check your solution.

= =
1. 9d — 4d — 2 = 18 2.2x+ 7{x—-3)=6 5
5p - ﬂ-\g 2x4+I1%x-N = 6|
O!x*"‘l/: ¢ |
=k A

B
=D

O:q()-4H)-2=%
3-Th=2 218
mr\‘s\/

{x=a7
¢ 9

=
os 2(+ILE=D= L

6:('.7&"'7

Multiply by a reciprocal to solve an equation

=y

40 = 2(10 + 4k) + 2k
Yo = 20+ ¥ +2¥

do = JOK+1L
"'"Z,Q —_

:}Q\L

jo Y

LY Yo- 2[]0-&4(2%11(‘0

‘10-’-'2.( lg) +'1
'-IC):"I'O/

Scolve §(a —5) =9,
Solution /
(i)}(a - 5) = 9 j:,;) Write original equation. AW ANS TO Sduds TS
Ec/ i PeuodLem
3 Multipl h side b . ) .
Jr\ P - (Ot ) 3 ru iply each side yﬂ%__L @ DIsTRIRTE B/Lf
M 0\-51 = 1
":;V’e F’ + 9 @ MULT\BL \{
BHTH Sroey BY
% T & REcirrocal
oty 3’.; i £ =9
3,(12) =9
q =9
@ checkpoint Solve the equation. Check your selution.
1> N
8] jex -2 =7
2x =\)=T
$¥ B
il
" e
= '4‘,,
O ,zl:(q.q _9_3:‘[
= ( lo-2) =7
L=



[ 2ame | &'s {1 5/even)

G=% 14)  n= 3l
@=| ) P=0b
=20 15) X=6
F ==L

)3-3!4&)1 Hig 8’.—*/(,/51/5,\‘()] ,7}33} P

= -5 [33} P 385 faches = 2% 1
2
T ‘D;‘\' -2
m=-% | U/\%" fr F
2:2 .f.c% IO()(-I) -£+
‘—:!_'EJ- lo(2=-) =10
: RS : 2 = —E—
M=% | PE2 ) e fe(xe)
| 2F = X+ +4Y 3)ox =106
(=5 2t = ISx _*y
s 4.8 it
D=12 30 = 1S ¥
) 3 IS 7 _
_K_I_:' % 32.50 /Hcket ) ] -nqe. Sides Gre ‘-S-‘l"‘} ?"‘1‘410‘;;]

plos $3.30 /trcket
plos #5990 pe- o-der
To 4=\ Sf)cno_(fr\g = $iao.70

ber—‘_mg Q-
($ 3250t $%-30)x+§h.7o =126:Ta

TR f—

—_—

[Bou cur § Tickers [

DEFNE vAaR|abLS -
X=¥ tickets \mém







Solve Equations with Variables

on Both Sides

i Goal - Solve equations with variables on both sides.
E QuAmgds HAVE
2 TY PeS oOF Sowtns
Your Notes >l\IO(.:»I\BUI.ARY

— L
B

() 4 5ULQTWM1X Q‘\

Identity Meeons thet on equATlvN

1S TRuUE Foe wnalY

SoLuTloN

VALUE OF X.

_:.‘7]’;( = a\l feecl num\_,er;l

) No S oLuTioN ﬁf/z

@ AL REAL MIMB ERS

Solution o
Collect variabl
i 15 + 44 =9a — 5 Write original
the equation and e GO equation.
constant terms on L] s - ——— =
the other teor l.:'.10h,'e — :::Itr?:[:eiﬂ_ from
equations with :
variables on both C=5A -~ & Simplify.
sides. ib i :
L A S (1) add S to each side.
A 3o = SA Simplify.
@ ALw ANS A -1t @ Divide each side
i 5 By S = by 5
ST PLIFY BoT y
Simplify.

(Z) GET THe UariaaLe od
DNE SvOE

Copyright © McDougal Littell/Houghton Mifflin Company.

Solve an equation with variables on both sides

Solve 15 + 4a = 9a — 5.

15+ 4( g '4' =5 Substltute for a.
15+ b 2 BC ~5 Multiply. -
o = jf Solution checks.
.

oR lx—"?k

—— ASTEP

Fuanv~
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Your Notes

MSOM an equation with grouping symbols
Solve 4t — 12 = G(t + 3)

Solutlon

4t — 12 = 6’(? + 3) Write original equation.
47-12 = Q{;;"’ '8 yDistributive property
=BT * Subtract /1 from each side.

—=lL® &1 %)
-1% -\

-2 = AT

g ¥ Subtract 1€ from each side.
¥ Divide each side by Z.

q 5 — Ay H(~15) -2 3 (1S +3)
fr=-18 SR LM

v Checkpoint Soive the eduation. Check vour soiution.

3
’ 1.3;/+7=8b+2 2. 6d — 6 = 3(4d + 8) L(4)-b § (‘I‘H
=k -38 d £: ¢)
i e 6D-b=3p+6 _f_:3/q(1
7“‘:‘3"‘}1{ =30 —32 . ;

A IgR= 1sv
a: 3(0)47=50)+2 4\ *--f““'"é)__\-') 3D+(i /

|D-‘-l0v/

- Check

®ao

X=1l —s 3

X=2 —>
=3 =2

b B S

i

Identify the number of solutions of an equation

SPeciac
CASE >

____________./—1_“
A My by
Chfoc. E\Lo:-n:ECé to ""k ‘

when —Hhe genrie Lie

Solve the equation, if possible.

aldx + 5 2—4(x + B) Original equation clf‘oPS aulT AnD
_L} +s _:} X‘*’ B Distributive property /—~yc M BE 2S Po
1 NOT E@uAaL THEN
5 #20 THERE 1S NO SOLUTN.
X = No SowwTon [, ~7%)
s
bl 6x — 3 = 3(2x — 1) Original equation
6 © T—
L 3= (X - 2 Distributive property when the
—(Ax —pX : Veric ble CI_,QpS'OdT
d the  pambers are
T AN TNFINILTE NUM Gt
= ,a,u~ ReAL MUMQ&J’LS oF Sorymads.
'S:_ ‘5 0\5 ASnuuTTuu
o By 2 5 N m
- & |‘ c LN
qm, 3
’.)' i vt A
I.+



Your Notes

]:_El 4X -3 37)(—-\\

le_f = oot —/:i'
% B

4 x :X\
=gl o

L5 Glay~—a =3(6-1)
- - s R

]

Copyright © McDougal Littell/Houghton Mifflin Company.

O Checkpoint Solve the equation, if possible.

g (470~ 2T

o st = W]

e "

3. %(41‘ ~6) = 2t

7
e Y =

3 # 0

—

—
——— ~

4,10m — 4 = —=2(2 — bm
o

G
[oh-4 = ~H+re

— 4 -4

.

I X= pLL REPL NUMBELS

I DEANTY

Boor AANSWER S

STEPS FOR SOLVING LINEAR EQUATIONS
Step 1 Use the dishittue 4, _per to remove any
grouping symbols.

Step 2 S?MQIZEI the expression on each side of the
equation.

Step 3 Use the properties of equality to collect the
}[c_.«: JNe\e terms on one side of the equation
and the Conistent terms on the other side of
the equation.

Step 4 Use the properties of equality to solve for
the Vericole '

Step 5 Check your SoluwHun in the original equation.
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) K=\ |
Cy 252 v+
®» P -G

13 R=s
C: gi=%4

I%) W= No Sorumiuny

2d) X=-33
O =Sk =-6SL/

A)  GTAw ReaL NuMgses

_7 l 3x+1
| P-? 5=3(q’)ﬂ@

40) ke

B
HX<a

S=4(q) -2=6Y

4x -2 -'-‘?;/11-7_ |
-~ X

K=tl="F
L +2

P= o4 (34) = )3

]

|34 nna]| Peist s's

Y=1408), 18-2C () Hil.4eL

Q0 m=>

C\ 2o0=20/

) M=y

CS‘%/

H) n=¥ |
C: 4= ‘+§./____

,?o)_ 27=- No S c.urfer

z-f) Y= ALC RedL Nowmgses

L) 14 - 7@03

M-5T+a =

[Q'Jb +I)
s.T-t— Te)

T+iL = 2 +10
23 T3

Ha"—}:-}_;/é

== ,l o

7
3.t Z3(%)
ey o

L Mo) ‘"(;?f'f'm‘

3(5,5)
H =14







m Write Ratios and Proportions

Your Notes
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Goals - Find ratios and write and solve proportions.

VOCABULARY

_rhe vse o division +o

Compare A QOUANTITIE S

Proportion J RRA TIOS THAT ARE

ERAUA L enT, EX4mMPLE —

> RATIOS
1. A ratio usesbi VisioN to compare two quantities.

2. The ratio of two quantities, a and b, where b is not
equal to 0, can be written in three ways:

- aib g toh)

3. Each ratio is read “the Poe of a to b’".

4, Ratios should be written in Smclcﬁ“ form.
TXAM

PLE

Write a ratio

Cell Phone Use A person makes|6 long distance calls and

15 local calls|in 1 month.
a. Find the ratio of long distance calls to local calls.

b. Find the ratio of long distance calls to all calls.

Solution

long distance calls é B <

local calls . 5 - 5‘

long distance calls é u 2_

all calls - =
AR Ed
_ ~ | =
e+15

Copyright © McDougal Littell/Houghton Mifflin Company.
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Your Notes

Use the same

equations to solve
proportions with
a variable in the
numerator.

!

methods for solving

@ Checkpoint Shawn and Myra are selling tickets to their
_ school’s talent show. Shawn sold 36 tickets, and Myra
‘sold 44 tickets. Find the specified ratio. o

1. The number of tickets Shawn sold to the number of
tickets Myra soid

SHAWY 36 [ g
pAYRA T 4 Ty

2. The number of tickets Myra sold to the number of
tickets Shawn and Myra sold

MYRA [ Ay
Tomwt = yo 120
m Solve a proportion
Solve the proportion 1—5 = —:-
Solution ///,/ff*“"ﬂ"_*'—‘_‘*‘\\\\\
— | Write original proportien. 9
[lRess yNOLTIPLY S =§"-h§
AN Divioe 3? 5
Iy =9 ]
p—— e

@ Checkpoint Soive the proportion. Check your soiution.

o
gon
v

C: 28/32 = 7§

J.a5 = 288

Copyright © McDougal Littell/Houghton Mifflin Company.
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Your Notes Solve a multi-step problem

Swimming Pool A empty swimming pool is being filled with
water. After 5 minutes the pool has 400 gallons of water.
If the pool has a volume of 11,200 gallons, how long
does it take to fill the empty pool?

Solution

Step 1 Write a proportion involving two ratios that
compare the amount of water in the pool to the
amount of time.

400 _ “‘,200 < gallons Ra-H‘b 'S 3&“0!\5 o My A UTER
5 X <«— minutes

Step 2 Solve the proportion.

o x = 5 (100
Ltdb\ Hoo

( X= 140 )

)

merpool is full after |40 minutes.LoK 2 HowRs AND 20 MmN

-
g 5y 0 Checkpoint Complete the following exercise.
TR 5. An Olympic sized pool has a volume of 810,000
gallons. If it is filled at the same rate as the pool in
Example 3, how long will it take to fill the pool?
. | P
L J R&k—.‘ HOO%““""‘ _ %10, do © 60\ m... Minutcd

M = s(mo.owg-
62 Lesson 3.5 « Algebra 1 Notetaking Guide TP pyright Mifflin Company.
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@o, VK minu@'

16575 hvs







K(::I = 2O

Reszed So wp Celc

heeded

m Solve Proportions Using

Your Notes

Copyright @ McDougal Littell/Houghton Mifflin Company.

Cross Products

Goal - Solve proportions using cross products.

VOCABULARY

Cross product

r 4
Crass T \3'8’
Proéuc*‘ \b;/
NotE 1F Tw& (CRoss P2 o00cT S

ALE EQUAL THen 1T 15
A TRoE PraoroeTtioN .

CROSS PRODUCTS PROPERTY
Words The cross products of a proportion
are EQUAL.

= ' - 10 =(60 They are e
Example = . 12= 1

Algebra lfi;- = %where b + 0 and d # 0, then

ad =bc .

wua-

Lesson 3.6 ¢« Algebra 1 Notetaking Guide 63



Your Notes &S EREA  Solve a proportion using cross products
5_.15

Solve the proportion v = 75"
Solution _
2 Write original proportion.
¥=‘5’_ s Cross products property
e Simplify.
/ _/E,_E’_\ %‘ﬂ“ -
ly=25 | B B IS Q™
The solution i ’ E'._S: B Tegg”
| i
L./

SR T m Write and solve a proportion

Plant Food To feed your plants, you need to mix
3 tablespoons of plant food with 16 ounces of water.

KL~
e if it takes 80 ounces of water to feed all of your plants, .
3T Seod with 1oz wader how many tablespoons of piant food are needed? \&— NeFINE UALARLE

Selution

Step'3 Write a proportion involving two ratios that
compare the amount of plant food with the

g) 6Z 4= gre?é ?\cnh

SE,E amount of water.
V AR ABLE 3 _ X <« amount of plant food
water

X:%D*Tc-‘r?\m-\rrooé lo w0 «— amount o
Stepq' Solve the proportion.

n\gﬁ.{" heve L_JN:TS 5
Jx = 3 x2 Write proportion.
6 4

Cross product property
X2, Simplify.
STEPE (WRITE ANSWEL (N A SENTENCE

ou need | S tablespoons of plant food for 80 ounces
of water.

p

vy

64  Lesson 3.6 * Algebra 1 Notetaking Guide Copyright © McDougal Littell/Houghton Mifflin Company,



Your Notes o Checkpoint Solve the proportion. Check your solution. . 3

et e pl .2

55 1§=_2_5 2§—-—-L :“?-;
- 25 *n 45 b b—2 = & v

& g= g5 B .us =3Sn ((o-3) = 3b
5.5 L S(h=2) =iz =36 —>0=D

Megé 22.S +blesps:

,_4P P‘Lw“' %C“ A

KL Use a scale model

Scale Model An architect creates a scale model of a
school. The school is 50 feet high. The ratio of the model
to the actual school is 1 foot to 75 feet. Estimate the
height of the model.

gbg* Sl oo\ W,
o \":‘;‘T\\ W Solution

—_— Write and solve a Er;oportion to find the height h of the
Scele Sackart JH =158 SEAIRHO o e e’
H_ Il «— height of model (feetﬂ "
. — = -
\Ja(‘l p\;&.& “52" = ¢ <« actual height (feet)
il Cross products property

1hc\c\ w =59
\\, :\\e\%\m* o™ Rt Lpn 7 75 Simplify.
_L[he height of the scale model is /= foot, or & inches. >
. 2 IJZC/H
s

O Checkpoint Complete the following exercise.

4. In Example 3, suppose the ratio of the model to the
actual school is 1 foot to 100 feet. Estimate the

height of the model. Q«.cl“"/
MooeL K \

M/Scc\e
2 — =

ACTUAL 50 T oo

Copyright @ McDougal Littell/Houghton Mifflin Company. / H T “esson 3.6 ¢ Algebra 1 Notetaking Guide 65
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|£3,¢, Ho | pq V71 #'s 13,

19 -25 -
s 33-3¢

@ u 23 L _ 2x+s
W w+2~f X
1 wn*) 33w X =3 3)(-\-5)
zw_r-ﬂzzuo p( ”[5
o Jw=iz] em_ ss
= [z = 1242y
Qo.-2 = 8 52 +4 2"~
. = Qo.-2 a‘f(ﬁ ) ""CSE*"D
- 0&”; _)_ 41 =
[a-2 i [z-= aO\
¢-8. _ j1-4¢ K - B - ok
‘@ kv e [ 23 | Frk S
n fC—B\ = - L(t\—%c.\ (K 8) R (K+3)
e -88 = -22+GC % K-tp = <K <]
3C = (L LK =33
| c=aa] | Kk=s.5 |
' P, (B i ry+| 2m +b
IE 3 T Zy i L@Zg_l -3
2(avna) = -3 (aved 7(mi) = 4 (3m+0)
‘1\,’+Jﬁfs = Tlav-lt Fm+F = 12m+2¢
[ ‘; :__:—j__b = 1% :, 5”]
I\/ A"\) 4 )nf] :«3,‘-{_}
6o B S
Bis¢uiTs ’Eg\ 42 BISCu TS 3o 5:3(_011‘5 )Zﬂ T.am X mHa MiN
FrooR 2 ¢ FLoua - X ¢ FLooa € PHod's™ R0 Phory ‘s | Pm
Y= &c_ -q-lou(‘ X’ 5 S T_,X:]%( )(:“‘Pho‘h
\ WL Ace |\ mMiay
l Need & LuPs FLode \ To vProad ad PMN':J
U’P“,N, wo
QM’ — _‘}_ = 3:2 Pva(n.\{-hn— T & _ X
2 X & " 2s



IN 26X W

ExTea Cesormr

(A \ R Bty s -
o - Py R 3s -39
_ .b= distence jo KM ?
35| 1em  Lem |
C m = T Eblam ce = QO KMJ
[35  l c”‘- 3ﬂ°m D=*& ] buﬁmq.tsl
] /5 Km D H8 Km
\Wl CJVI—:: rScem D=7'S -biS'be&
| | S Km D is 78 Bm
l_a—ﬂfgr C d—— —
Z ____L."'l = ‘f:?cm D _—:70'5-' D-s‘m-dct. 'S L
L. JEKm D 7©.5 km

]59J __KI‘- MebérL 4Am : 2Sm
EMPiee sTRTE is 443.2 m
Whav v's He. hefﬁ/k'r of He modol?

H= model hebhffm)

|

- H

arc ® 7}73.2_

HYy3.2x4
a5

R =
H=11,72%

L W‘.s 19,73 % m +4D
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m Solve Percent Problems

Goal - Solve percent problems.

Your Notes

P

/(

N

66 Lesson 3.7 * Algebra 1 Notetaking Guide

o\

SOLVING PERCENT PROBLEMS USING'E?OPORTIONS mEeTHOL 12 l

You can represent “a is p percent of b” by using the

proportion TS Wo

- R
2. L oR of /00
10 | T

where a is a part of the base lo and P/IOQ or p%, is

the fpﬂe/ﬁ-‘
m Find a percent using a proportion

What percent of 50 is 33?

sl B

Solution

Write a proportion when 50 is the base and 33 is part of

the base.

_32- = —  &—Write proportion.
50 loo
% 50 Sowé
@d ¢ ross products property
= —‘;L“‘-___\‘_ -

e i S Dot Sopk B sicn

Copyright © McDougal Littell/Houghton Mifflin Company.



Your Notes

| AN SLATE
fisioiensosibat

s n
1% MmeEeecnsd ey

OF ! Mecnd MOL'\"\’\'B

U cric c\O“'-b

? = ?Qrce.»c\'
N = num et

METho - IT> %,

—

ofF - 00

@ Checkpoint Use a proportion to answer the guestion.

1. What percent of 80 is 282 *1 5
1= g0 = FO 4!

@13?\_
2, What percent of 90 is 367

Y o
P T OP. 3L-leT
mE s B

/106 9
(P=4%%2)
i R

THE PERCENT EGUATION
You can represent “a is p percent of b" by using the
equation:

Q a= P% -0
where a is a part of the base _b_ and p% is

the Pg rcent .

g e G s Find a percent using the percent equation

[ What percentof A50 is loo ?@No&DS

——’—“—'/'" / TRANSLATE

e 2507 |00 write(percent equation. ] 5
i G

= e T )
ee -z:,a"s T e el 5(2

Write decimal as a percent.

]Eﬂm -
"he‘“\o

CHECK tu %\ prepor 4 an

Po oo
Joo = 256
- Yga i = |00 100 C\russloméuclvs

J oo OO =|o)ooo./
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Your Notes
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e

WesteE
Find a part of a hase using the percent equation

\

il —

e

What number_is 75% of 3007
- & B =

Solution
N =,75e300 Write percent equation.

G4l Fa'i
B Rt
— Suo |
@s 75% of 300 ) 215(100) = 300(75)
% : Z.L)S' o0 = 22,509 v

@ checkpoint Use the percent equation to answer the

question,

3.)What percent of 75 is €07 , ,

P71y -0 in u
7 7s 15T S
= §=g0%)

P:"”S

4. What number is 4% of 807?

N =4 50 (> 32 4o
% o rtl T T b
N =3 &o
c;) 3,200 * 3,200 =

e LI Find a base using the percent equation

a5 is J.,?‘ % of what number?

n Chenge

Solution

Write percent equation.

;gif,l§°kJ

’[LS_ P4 S

| N =doo

p—— . IS
£ e

aASis 5% of A4S0,
.

ﬂéS%

o s b e § A
2

Chedew I?m(w“*’

¢ 5o

{eYV]

£
.

80(15) = LO(lUf-\)

6,00°

= Q,oao pd

2,00= 30 09~

Copyright © McDougal Littell/Houghton Mifflin Company.



Your Notes

(/] Checkpoint Use the percent equation to answer the

question.
5. ks 25% of what number? 1 Propuion
EQ/—\\>. _ N Lo 25
7 (0<% N = 700
L} - ) R ‘f
6000 AN "‘éo - e
n= as, ) =5,
\) /
N =40
6. 78 is 150% of what number? / Pro fd'/'h\dr-‘
EQ —1 e ctm o A
PIS=1 7S _ Is®
e AP I
7500”" NoN = 15* S "
i T I s% P b
IECLS
n = :.,_S-_? . 1O n = _I_EO
T3, 3
v
TYPES OF PERCENT EqQuaTians
Percent Problem Example Equation
Find a percent. What percent -
| ; - P
of 25215842 Pe 252 = %Y s
Homework
Find part of What number . OF —™ X
a base. is 30% of 907 N T ?DQ Qo Ch 9 \g
ange /0
Find a base. 16 is 20% of By 5 &
what number? [, = . Qo N R
N /
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EVen's ow
N exT Phee
|n3.% hw] Pg 179 ¥'s 1, 2, 3217 (ede)
) IB IN Twe STATeme~T @ 597 15 IS oF 360
ANSWER: Pencent iy IS, Is (’*ﬂ') 1
’Pu--\- (IS\ ts SY, oF (Base) =Ioo

E)G.Sc CDF) &% 3L0.

@ 33 is 3% orF F0" s, Poportioart 4% 3§
G“?:_ X b 2 g0 ° Joo
Nw:.:rﬁi-n' e Goe s in
'5'55 dtnournvh\"
| 7 P e s
[3] ;ls L PeIs=a1 [s] 35 N N=35-%0
| OO S’o
M l\o" P-36 f———é“‘)
¥ U —
Rt
E 2 = R
. - /00
b ..3/ | /?1=s%-m
8 .F“C (@Al Pek0=5L |[s-_P ~
© .3/ = Y TE Pe ISy= .15
w “W / P =, Q toa 'P= 0C ""T)__-_'_é——;—g’_
%/ Pz \7*5 s
@ N‘/\)l;;)i s L0 _L\J__l 115 [@ 7‘:—‘.88 N - 7
| N /0
EARNCTI-E TRy ——







KEeY

Rewrite Equations and

Formulas
Goal - Write equations in function form and rewrite
formulas.
Your Notes
VOCABULARY
| Function form] =5 The Same As|Y=mx+8]
F:ch/ﬁdu Foem % Givem AN & QUATIVAY LWWATW X ANGY
————Y"_—‘__' You X SULATE Y (\I: 3
Y/ Literal equation ave eQQAﬁOM L)y TW
\]/:m x+\0 Z. OR MORE UARIAALES
‘ 7 (AKA Le ters)
/ %\“n{-ﬁce?\'
Slope ) L )
m Rewrite an equation in function form
Write 2x + 2y = 10 in function form.
Solution

Solve the equation for y.
2x A )= 10 &——— Write original equation. --SOLATE Y/

- A
‘{/_"'@5“_};){ +-10  Subtract AX from each side.

= =

%% oo oo Divide each side by 2. (ALL TEZ#sS Diviet 2yz)

The equatior‘ y ==X 1—’3 is written in function form.

Solve a literal equatio
Soive(a + by = for a.

Solutiop 1 e
@-I— by =c, < Write original‘equation. co» & Solue Lor o

Subtract b‘l from each side.

The solution |s}a |
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Your Notes m Solve and use a formula
The interest [ on an investment of P dollars at an interest

K j:“ rate r for t L years is given by the formula I = Prt. —
T ‘bt R olve the formula for the time t.
= l Fa ) re
L N v Use the rewritien formula to find the time it takes to
P = 1nvesiment i / earn $100 interest on $1000 at a rate of 5.0%.

= 1n~\e/e:>"r r:;—tiwg / Solution g,,/ Solve T . %e;\— a Nedd
£ =\ eors ‘;a. ‘Tif—'_— ngl Write original formula. formola

Pr
A b =g Q Divide each side by ¢
P ey L5 Pat PR

5 b. Substitute $1oo for I, $1000 for P,and 52 for r

in the rewritten formula. > .08
t= o Write rewritten formula.
P ]
& |00
IOO St Ph“’Y Sy _ —
L = s | Substitute. ts ®
Jooo |-| .08
P Simplify.

It will take ={_years to earn $100 in interest.

N~

Q Checkpoint Write the equation in function form.

QYfrra,  (OFrmge
i

@ checkpoint Complete the following exercises.

- ™ OSolvea-!-by—cforb Verible
cv i
Homework | 5
_.C’L) = |"€,M

4. In Example 3, solve the equation for P. Fi Constnt
investment P if[l = $40@Jr = 4%) and)t = 4 years Les?
04 -

% sk
(.UF'\{ i N Ew ‘&Jerlg \) USE,.‘E\E_ “Ct)fMu\q

‘o an swwe- 7
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Namé
Dete
P(-’." O é

P\ DL e e e R

Livptay Foumter (wriis senlinee) o o

() divide each §T de. Yoy pir SaaCley GO

,@ New furmula } = i _41 e ——————————————

rr

o ——
ey (80) L ax MZ“ c
- -ab

'0—1( ,“‘92&'?_ —9’,, e TR _

a_

eSS ) A . o8 o

T Cressmw WP
= = ,Z,/_ = ,\é - ;““ —




| __
@ ys-ax+? )x-—- b LY B
i e |\ a N . X= .

J’ 5 +L“6 = IQ
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